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Choose the correct answer for each of the questions from'l to 5.

1 SRoE1 5 wite Al o e Oed i Bredt t~

1. The roots of a quadratic equation arc 1, 3. The equation is
5t fars AT &1 Wo1 1, 3. TN 2
(@ x*-4x+3=0
@) x*-3x+4=0
(¢) x*+4x+3=0

@ x?+3x+4=0 | 1

2. If sin@=cos@, 0° <0 <90°, the valuc of @ is
W sin@ =cosB, 0° <O <90°, 8 T TA
(@) 15°
(@) 30°
(c) 45

d 60 | | 1

3. The Median of the distribution 41, 39, 48, 52, 46, 62, 54 is
41, 39, 48, 52, 46, 62, 54 RSEAGR TGN TS

(@) 46
) 48
(c) 52
(d) 54 1
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4.  Which of the following numbers can be the probability of an cvent ?

- O RN (IO 9Bt TG TSRS 77 “Ag?
(@ -0-8

(&)

W Wk

(©

(d 1.45 . ]

5. The distance of the point (-5,2) from the y-axis is
Y-l (=5, 2) RoR Ee T

(@ -2

(@) 2

¢ -5

d 5 1
6. Are the sets {a} and {1} equivalent? 1

{a} o {1} A<= YBI ANGE T2

7. If 4={]1,2, 3}, B={3, 4}, write down (4 UB) x (4 N B). 1
W A={1,23}, B={3 4}, cot8 (4 UB) x (4N B) &1

8, If 3 is a zcro of the quadratic polynomial x* —5x+c¢, what is the value of ¢? 1

M x* - Sx +¢ IS ILAABR 3 9O [ T, ¢ I W T2

9. Find the condition such that the roots of the equation x2+ px+1=0 are rcal and
unequal. . 1

X%+ px+1=0 TR T {B! AT S TP ZRAR 560! Aol 311

B13-GM [3] Contd.
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10.

11.

What is the volume of a sphere of radius 2-1cm ? "'

2-1 (&7 [HAIEI GB1 (SNTFT STo fFT 2

What is the mode of the following distribution ?

e Rermor Iz &2
2, 3,4, 5 0,1, 3, 3, 4 3

If the mean of 6, 11, x, 8 and 5 is 8, what is the value of x ?

http://www.assamboard.com

12. 1
W 6, 11, x, 8 W 5 O A4 § =, x oF IW e

13. The middle point of the line segment joining the points (5, 1) and (x, 3) is (2, 2). What
1s the value of x ? ' 1
(5, 1) ©= (x, 3) Reqas @M @AeI TG &7 (2, 2) T0A, x o7 T Rsi= 2

14. What is the locus of a point which is at a constant distance from a fixed point in the

"~ same plane ? 1
L3 AeeTe 31 1 fAfMe R +t Taees ¥ «@bt R Fwaie 2

15. If 4={1,3,57}, B={1,34,58} find 4—B and B- 4. 1
I A={1,3 57}, B={1,3,4,58)}, A-B ©I% B— 4 Threxl|

16. If the roots of the equation 3x” +(6+4a)x +8a =0 are equal, find the valuc of a. 2
3x2 + (64 4a)x +8a = 0 AR T P! HIN 3, a I I Sferer

17. Using algebraic propertics of Set operations, show that
NS 2fFar A& of et IR e @,

A-B=B—4 ' 2
B13-GM (4]
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18.

Let the points A4, 4" be symmetrical about a line I If P is any point on the line /, prove
that AP=A'P. 2

A, A" & 91 ] &= Aees A 13 P RAD 1 (RSRTS A, g6 310 @ AP = A’P.

19. Perimeters of two similar triangles are 60 cm and 20 cm respectively. If the length of
onc sidc of the first triangle is 12 ¢m, what is the length of the corresponding side of
the second trianglc. 2
Vo1 ST+t fagera »fRA @ 60 (&S = 20 &fF) 2 fagethr @bl 3R i 12 B
e fagetbr s s sy a2
20. Construct an angle of measurc 60°using ruler and compass only. 2
T IF TR TJRRE IR A6 60° TAT (T WP T4
21. If AB=5cm, AD=3cm and £A =45, construct the parallelogram ABCD. 2
W AB=5 (@, AD =3 @TTF LA =45, ABCD FANGRITH O 31 |
22. In the quadrilateral PORS, PO=4cm, OR=5-5cm, PR=5-6cm, RS=4-5cm and
PS=4-6 cm, construct the quadrilateral PORS. 2
PORS v9s&a PO=4 (%, OR=5-5(%f¥, PR=5-6 (&4, RS=4-5 (& <I®
PS=4-6(=F1 PORS To$ETo S& 31|
23. Three metallic solid cubes of lengths 6 cm, 8 cm and 10 cm respectively are melted and
a single cube is formed. What is the surface area of the new cube ? . 2
"6 (=, 8 (BT 10 (RAAZ IR TSI01 (D! 4ISINT T S1e1% 51 I CONE F0 2+ | g
IO opgfer a2
24. A bag contains 5 white, 6 red and 4 green marbles. One marble is drawn at random
from the bag. What is the probability that the marble drawn is not red ? 2
Q= GRS SBT I5M, 651 T61 ST 451 OGR! W STZ | (RILAR 247 A oaFeIa 51 I-fel
Bfereqt 2o | ML IS AICRRR Tl Koo 2
B13-GM [5]1 Contd.
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25.

26.

27.

28.

29.

30.

If the points (2, 3), (4, K) and (6, —3) are collincar, {ind the value of K. 2

(2, 3), (4, K), (6, —3) =201 @3=@AT 7', Ka:rmﬁmmv —

Solve : 3
HAA 341 .

35x> +13x—12=0

The ratio of two numbers is 3 : 11. If 10 is added to cach of the numbers, the ratio
becomes 1 : 2. What are the numbers ? 3

B! AR FANS 3 : 11, I 2ARSTH! A0t #1578 10 Ioi I 2, (STHE T 9 S#Aiors!
1:2 =@ eyl 4ol & &2

Mr. Mahanta opened a Savings Bank Account in a local branch of a nationalised bank
on 3 Scptember 2012 by depositing an amount of Rs. 2500 by cash. In the same year
on 5 September he again deposited Rs. 370 by cheque and on 15 Scptember he withdrew
Rs. 388 by cheque. On 28 Scptember he again deposited Rs. 250 by cash and on
9 October withdrew Rs. 450 by cheque. Show these transactions by entries in his Pass
Book and find the amount on which he will get interest in the month of September.

3

fireia 72@R 2012 o7« (YT 3 ST 2500 T3 79 T FF GOF AR @GR
RIS 5T A% Srall 174" Yfeirat | (3 T29© S (YT OIS (08 7 wRITe! 370 T

G ATE W 15 (P SRS (GIAMST 388 BT Sferaitat 1 28 arydRs (98 7 250 Tl

oW Tl FI WF 9 SR SR 450 T GITITH BRI | 9B (ST (RO AIRGES
eifife (el I (=LA TS RN IR @vige Ao i) [T 41

Let the angles made by the chords 4B and AC of a circle with the diameter AD be
cqual. Show that AB = AC. 3

9Bl JG4 AB ©1F AC TE AD I[P TS A (I GBI HAA | (83l A AB = AC.

Find the value of @ if
8 T R fAfy 31 I

cos B cos@ _ o o
]—51':19+1+51'n9"4’ [0 59590]. 3

B13-GM (6]
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31.  The expenditurc of a hostel is partly constant and partly varics directly as the number
of boarders. When the number of boarders is 150, the expenditure 1s Rs. 37500 ; and
=" when the number of boarders is 100, the expenditure is Rs. 27500. Find the expenditure
when the number of boarders is 125. 4
B! RIS 5 46T GO Wt R Wi WIH! Sl SRR TR S ehepE Reaeie |
SRR AT 150 & LT, I 436 T 37500 T 6 SR AT 100 A T 45 46 70
27500 TR | SRR A2 125 T 20, Y5 A4p A 72
32. The gross salary of Mr X, aged 55 years, for the financial year 2011-12 is Rs. 240650.
He pays Rs. 208 per month as professional tax. Morcover he pays Rs. 2000 per month
as LICI premiums and deposits Rs. 1000 per month in Public Provident Fund. Compute
the income tax paid by him for the assessment year 2012-13 given the following slabs
for computation of income tax
Upto Rs. 180000 : Nil
From Rs. 180001 to Rs. 500000 : 10%
Education cess 2%
Secondary and Higher Education cess 1% 4
55 e A TR X @@ 2011-12 Rl 94 21w 5 = 2 240650 591 | 96 T1F 208
Bt @i 717 Ast | 999 o€ Witz 2000 Gt SeR Siew T st 2 fic
Y ACZ 1000 SIS 113 2 ToreS Fws T 4m1 2012-13 79 FdRd 381 1w (967 =9
fdire 1 T 71 el Rier ~pitaer oeore i «@ow =
180000 51 44 : < v A
180001 B=R =t 500000 B=Ta : 10%
o 39 2%
MY SiF Tw e 39 1%
33. Prove that the linc segment joining the centre and the middle point of a chord of a
circle, not passing through the centre, is perpendicular to the chord. 4
o 1 (@ JEI (Y WS (IH| NS (AR R N4 R A@ISN @A-e o4 #7%)
34. Two pillars of equal heights stand on opposite sides of the road which is 100m wide.
At a point on the line joining the bases of tlie pillars, the angles of elevation of the tops
and the pillars are 60° and 30°. Find the Height of cach pillar and the position of the
point on the road. - : 4
B13-GM [7] Contd.
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Bt Q6 2 [#4Fe T 2 B! Al ToolR TIIEE 100 571 BE (HR ol AT

FR 01 AN ST 31 ot R 271 T o1 A B (e T 60”0 30°. 20ty
wEd Tl SiEed OiF FRed Aere o b s e )

35. Prove, with the help of coordinate geometry, that the linc segment joining the middle
points of any two sides of a triangle is half of the third side. 4
ZAIe Wit =S 29 € @ Age Pl IR iy ATEi @ue ger g
4l |

36. When a conical toy of basc radius 3-5cm 1s placed on a solid hemisphere of the same
radius, the total height of the toy becomes 15-5 c¢m. Find the total surface arca of the
toy. 5
3.5 (B o YPIMT =T AFReA 2[oel GBI GIF I (90! WHoEF GBIF So[S B
FLICS TEAIDE F TH! 15-5 (BT (9IRS | H[THAMTE 5 7% Biler Sferedi|

37. The median of the following distribution is 78-5. If the sum of the frequencies is 60,
find the valucs of x and y. 5
sl Re/miR e 78 5. 1 IRFRER FE 60 T, x WF y I T SEHew |
Class Interval

50-60 60-70 70-80 80-90 90-100 | 100-110
I ST
Frequency
5 X 20 15 y 5
BISECIEO)
x
B13-GM [8]
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GENERAL MATHEMATICS

Full Marks : 100
Pass Marls : 30

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions.

(OLD COURSE)
For unsuccessful Old Course Private candidates of HSLC/AHM Examination 2012 and earlier.

2012 37 IF O G197 9 HISLC/AHM 99978 SFe czrat 43R 21572 213res #3182

All questions are compulsory.
WIGIRTAIT &N AT

Take n:% wherever necessary,

AT T n=22 wq)

Choose the corrcet answer for each of the questions from 1 lo 5.

1303 31 5 (1 AfSTh! 2 v e i e

1. The roots of the equation x> —6x = 0 are

.t2—6:c=07fﬁﬁﬁ"ﬁm’é’ﬁ
(a 6,6 | (B -6, -6
() 0,6 - d -6,0 I

2.  The value of (sec2 55° — l) X cot*>55° is

(sec? 55° - 1) X cot® 55° AN T

@ -4 ®) -1
© 3 @ 1 !
B13-GM [9] Contd.
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3. The height of a right circular cylinder is 13 ¢m and the radius of the base is 7cm. the
surface arca is

TN G (<o Tl 13 (ofir i S I 7 (2l | sfboea 9 2

(ﬂ) 880 Cﬂlz ﬂ)) 440 c,lnz
(c) '8'%9“3’"2 (d) ié,’ll'gacm2 1

4.  The volume of a sphere is 38808 ci°. The radius is
@B} (ST e 38808 (B3 | AT

(@) 1lcm (&) (®B) 2lem (&)
(¢) 33cm (&) | (d) 44 cm (&) 1

5. ABC and DEF are two similar triangles such that L/ A=/D, ZB=/ZE.If AB=3cm,
BC=4cm, C4 =5cm and FD =10 cm, the length of DE is

ABC ©i% DEF "% fdg@ ® LA=4D, /B=/E. 3% AB=3 (%4, BC=4¢%,
CA =5 &% =% FD =10 (5%, DE X 7 T

(@ Scm (&) (b) 6cm(CE)
(c) 4cm (I (d) 2cm (BT ]

6. If A={x:xisanatural numberand 3<x<7}
B={x: x isanatural numberand 1<x<3}
find ANB 1

m A={x: xFefERIAIAF3I<x <7}
B={x: x TeREMAEAIF 1 <x <3},
' cotw AN B Sfedt |

7 Rs. 28500 is divided among 4, B and C in the ratio 3 : 5: 7. What is the share of B? 1
A, B, CI7Ere 28500513 : 5: 7 AT S8l 31 24T | BY O i ?

8.  Ifsold atapremium of Rs. 5, what will be the market price of 400 shares of Rs. 20 each ‘1?

PARTE CHIR® S Tt TS 20T 20 B! 400 B AR e 7 N 2

B13-GM [10]
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9. Isx—1Iafactorof x> +2x2+x—5 2 1
— X +2x +x—5 IROE x —1 GO Besiw T2
10. If(a, 1) is a solution of 5x—=2y+7=0, what is the valuc of a ? 1
5x—2y+7=0 FARRR (q, 1) 96 MR T, @ T T A 2
11.  What is the point of interscction of the line 3x —y =6 and the x-axis ? 1
3x = y = 6 RIS B x5 (2 Lot 2
12. Ifx:y=2:3,y:z2=5:4,whatisx:y:z? 1
Aix:y=2:3,y:z2=5:4, x:y:zfF?
13. Evaluate 1
i foefa <sar
0-01)?
14.  ABis a chord of length 24cm of a circle of radius 13¢m with centre Q. OC is perpendicu-
lar to AB. What is the length of OC ? 1
13 (&7 IFERFR O FRE 767 4B TSI T OIF 20 05 24 (% | ABT @9 ® OC = |
OC3 g w2
15. What s the locus of a point which is at a constant distance from a fixed point in the same |
plane ? 1
T 0TS A 1 1S R o1t srivags ot R woiar e
16. A man invested Rs. 2400 in 2%% stock at Rs. 96%. If the brokerage is %%, find the
annual income of the man from the investment. 2
GG AR 96% WWZ%%WW 2400 Bt YRS | IW Wi %%m (STT TG
< g foef 2
17. Show that (x —2) is a factor of x’ +5x? —2x —24 and hence resolve it into factors. 2
(TYSA (T x” + 5x” — 2x — 24 AW (x —2) GorBesivSre 2areial ARBR Sesima R
= . :
B13-GM [I1] Contd.
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18.

19.

20.

21.

22.

23.

24,

25.

Solve ( YN F]N) : f 2
S5x+7y=19 . . -
Tx+5y=17

Find the area of the triangle formed by the line 4x + 3y =12 with the coordinate axes.
' 2

Ax +3y = 12 RS SF% qole w1os 72 31 fager =i Fefa <
1

Find x : y if http://www.assamboard.com | 2

x:yffaiam
(7x=2y) : (11x+2y)=13: 41

If (x+y) o< (x - ),
W (x+y) o< (x ),
Show that

SN @

(IB +y3)°c(x3—y3) ’)

If @) 3% =4Y=127,
1_1
y =z

Show that ((Ysdl () %“*‘

Find the square roots of (I EfFiea) 2
4423

Solve (F4H F531)
x*—2x-35=0 | 2

Let ABD be a triangle inscribed in a circle where 4B is a diameter of the circle. If Ois the
centre and £ ODA = 30°, find the measures of the angles £ DOB and £ OBD. 2

O (TR 89 TrE5S ABD <ot fgs =% AB J@ER UM 13W £ ODA =30° 2, £ DOB =<
Z OBD IR a3

B13-GM : [12]
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26.

27.

28.

29.

Construct a square, length of whose each side is 4cm. (Traces of construction only are
required). 2

51 3913 241G AR T 4 (&far 1 5T0B1 S 991 | (@7 B it 1)

Prove that (295714 <31 (7)

tan® 6 —sin* @ = tan* Osin* 0 2

Find the angle of clevation of the sun when the shadow of a 10 metre long pole is 104/3
metres. 2

10 fabrr Riet 6 i el 1043 Rl 2ot 37 S el Sferea |

Ifthe length, breadth and height of a rectangular parallelopiped are /, b and / respectively
and if § and V are its surface area and volume respectively, prove that

S=2VG+%+%) 2

BT SRSTE (T, 27 S SHol T J, b S b, JAR 7B-Hife] S TS T SF V20,
2T 1 (1

s-arffhh

30. If(aM) 4={1,2 3 4}, B={4,56},C={], 3, 5}
verify that (FJI7i¥ 1 ()
AN(BUC)=(ANB)U(4NC) 3
31. Find the LCM of (s 71w fadfaz=)
a’—9b% a* =276 a* +ab-6b> ' 3
32, 1f 5 1s added to the numerator and 5 is subtracted from the denominator of a fraction, the
fraction becomes 2. If 1 is subtracted from the numerator and 3 is subtracted from the
denominator, the fraction becomes 1. Find the fraction. 3
BT SAR*R TR TS 5 (191 M 243131 5 f{aiel FRCA SAHT 2 27 1 549411 | S 293941
3 fRais! TR SAeITsr 1 28 | Sotet Sfenear |
33. Solve graphically (749 7RIS ANYIH 31) 3
y=2x+1
y==-3x+11
B13-GM 113] Contd.
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34.

35.

| 36.

- 37.

38.

" 39.

40.

If the fourth proportional of (3x+1), (12x+7), (x—1) is(4x—5), find the valucof x. 3

Gx+1), 12x +7), (x — 1) A 5oL TAANSE (4x — 5) T'T, x S T Bfenaat | -

|
If (@) a=2-33, show that (%3831 (T)
a®—6a’ +12a-5=0

The sum of the squares of two consccutive natural numbers is 221. Find the numbers. 3

5! T Froifas A1 3I5f4 Q91 221, 33271 7o! Sferear|

Prove that chords which are equidistant from the centre of a circle arc equal. 3

eptel 3 (A G (FHI7AN ANGAS] S HA |

Find the locus of the points which are equidistant from two fixed points. 3

ol e RReRr Tamaasl [RrarRs FF fefa =1

There are 90 students in a class. Out of these 90 students, 35 students play football and 43
students play cricket. If 19 students play both football and cricket, find the number of
students who can play neither of the games. 4

B (IS 90 T T WITE | 92 90 T BIT S0 35 Tt FHeT (AT B 43 Tt TF0H (AT |
T 19 T B2 PO S AT AT (I, (ora= (1 QR ¥t (\eds gad 7l e e

Prove that the sum of the opposite angles of a cyclic quadrilatcral is 180°. 4

2 33 (7 5E I BPSER 101 R (1o (s 180°.

41. Construct a circle passing through threc non-collinear given points. 4
TIFC HIHACALNS 7S FOf01 27 73 T bt 7 =W <1 |

42. Theratio of the slant heights of two cones is 5 : 4. If the radius of the circular base and the
curved surface areca of the first cone are 7cm and 4070 sqcm respectively, {ind the slant
height of the second cone. 4
TBI IR (2T SO SJoAIS § : 4 | 2120 XD Gwera <ol Wi ep=pba ifer & 7 =i
IF 4070 39 (7 ¥ 2’0, Sy =I5B e Swol ey 3|

B13-GM [14]
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43.

Let ABCD be a trapezium such that 4B | | CD and AB = 2CD. Let AC and BD intersect at
X. Prove that AX : AC=2:3. 4

ABCD @&’ AB|| CD & AB =2CD. ACwWBDaxﬁTﬁm%m|mﬁwm
AX: AC=2:3.

44, A and B started a partnership business investing Rs. 5000 and Rs. 3200 respectively. After

5 months, A withdrew Rs. 1500 and B added Rs. 800 more to his investment. Being active
partner, B gets 10% of the annual profit as bonus. If the profit at the end of one year is
Rs. 23800, find the sharc of profit of B. 5

A% B« T 5000 Bl S 3200 Tt 7 <51 7<= S FELeT | 5 W2 #ii=e A @ 1500 O
572 #ICe1 O B @ 800 T AgAE AR | FRrFa WKMWIA (211K AT B @ LTl A 10%
@I BRI o4 | 3 qa%aa 33 T3 7S 23800 51 7¥, (ST B 3 #ffoa Al fefa <

45. A person invested a part of Rs. 22450 in 5% stock of Rs. 131% and thcrestin 3%% stock
of Rs. 92%. If the brokerage is %% and the annual income is Rs. 850, find the amount
invested in cach kind of stock. 5
G TCZ 22450 5 P St 1313 Bl T 5% B 1 1 e 92+ B W 32%
B oA | 3 wEe lg%aaure:saﬁ-@w 850 Bl 24, WigRet Afefy 3o i Sals
Jpaiafeet fAefa <=1

b d
http://www.assamboard.com
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